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10% 27 +12x 20 4 3% 22 = (5x 2)x 2V + (3x 4)x 2° + 3x (22 x 29)
=5x 2% +3x22x 2" +3x8x2"®
=5x28 +3x 2% +24x 2"
= (5+3+24)x 2
=32x 28
= 25 % 2%
— 223
(lss 96
&y
11x9°-8x9°  (11-8)x9 3x3"
4x37 +5x37  (4+5)x3" =2_6
:3X—9j 3—10X36
9X_35 _ 3106
(s3> 97
5(a‘°’)2 —4(a2)3 =5a° —4a°
=(5-4)a°
=1a°
=a°
(<l 98
7a*? +a'? —3a? —5a'? = (7 +1-3-5)xa*
=0xa"
=0
(s3> 99

4+ I =F x 3T+ +Fx3+FxF

=%+3X+3><3X+9><3X

:(%+1+3+9jx3X



33 £ g

40

:—X3X

=40x 3t x 3
=40 x 3t

(wls3 100

25x +52x+l _52x+2 + 25x+l _52x — 25x + (52x x 5)_ (52x x 52)+ (25x x 251)_52x

= 25" + (25" x5)— (25" x 25) + (25" x 25) - 25*
=25*(1+5-25+25-1)

=5x 25"

=5x5%

— 52X+1

(wls2 101

9% 37 0" +27x 372 —6x 3"+ 2x 9 =9x 9 — 9" + 27(37 x32)—6(3% x3 )+ 2(9* x9)

7(a“)5 —3(— a° )4 =7a® - 3(a2°)
=(7-3)a*
— 4a20

=9x9X—9X+Z—Zx9x—glx9x+l8><9X
3 3

=9*(9-1+3-2+18)
= 27x9"

()

=3P %3

= (3 (3)

_ 32x+3

(lsz 102

(wlsd 103

7(a“)3 + (— a’ )6 - 3(a2 )6 + (— a’ )4 —5a'? =7a"%+a"”-3a"” +a'”* -5a"

=(7+1-3+1-5)a"
=1xa"

— alZ

(©ls3 104

37 £ 3x 3 +37 = (3 xF)+3x3 + (3 x3*)
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:3X><[9+3+1j
3

_3 x 3"
=37 x3*
(wlss 105
521 25 (52 — (5 f +25% +5x 5% = (67 x5)— 25x 57 ~5> +.57 +.5x5%*
=5 x(5-25-1+1+5)
=—15x5%
:(—3><5)>< 52X
— 3><52X+1
(s> 106

3x 3% _3x 3% 0" ~18x 377 +18x 9" =3(3% x3')-3x 3% 3% —18(3% x32)+18x 3"
=3 x(3x3—3—1—18x%+18]

=37 x(9-3-1-2+18)
=213
=(7><3)><32X
=7 x3>"
(107 wls3 107
155 oo 53 (0) e3blas (1
6—-6x*=0=> 6(1—x2)=0=>1—x2 =0=>x"=1=>x=+1
7x' =7=0=>7(x" ~1)=0=> x* ~1=0=> x* =1=>x=+1
[ Ssh S s ol X =21 s
(o i pei oyld XeR—{-11} 5 (2

(s3> 108
47 =256 => 4** = 4*
=2Xx=4
=X=2
(@13 109

g1 =512 = (2°f ' = 2°
= 23)(—3 — 29
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(wls3 110
73 =1=> 70 =70

(Dlss 111
9" = 27x 3% => (9" x9) = 3 x 3
=> 3% x 3% =3¥ x 32
= 32X+2 — 3X+5
=>2X+2=X+5
= 2X—-X=5-2

=X=3
(s 112

5* +5°1 =6 =>5" + (5 x5)=6
=>5"x(1+5)=6
=>6x5"=6
=>6x5"=6

:>5X:

oo

=5"=1
=>5"=5°
=x=0
(s 113
25

10000
25

10*

572 x 22 = 0.0025 => (57 x 5)x 2 =

= (57 x5?)x 2 =



= 25x (5x 2/ = 25x107*

=10 =10"
= 2X =4
= X=—

2
= X=-2

8x 2% +2=2050 => 2° x 2% = 2050 — 2
=> 22 = 2048
— 22x2+3 _ 211
= 2x?+3=11
=>2x* =8
= x?=4
= X=%2

1 2—X
(éj =243 = (31" =3

=>37?=3
=>X-2=5
=X=7

1 2X
(—j x52 =5=> (2571)2)( x5*? =5

25
= () x5 s
= 572><2X % 5X72 — 5
= 574X % 5X—2 — 5

= 5—4x+x—2 — 5

271 41=9=21=-9-1

=>2"1=8

=>5%?% =5
= -3x-2=1
= X=—
=x=-1

Olusly g 20 36

(les 114

(&ls> 115

(53 116

(ols3 117
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= 22X—1 — 23
=2"-1=3
=2"=4
=2"=2°
= X=2
(&lg3 118

(_)X_Z x7T*=T7"= (4971)*% x7*=T*
49

= (77 )X‘g xT¥=7*
=727 =7
_ 7-2x+30x _ 74
=7 =7
=-X+3=4
=-x=1
=X=-1
(ls5 119
8x+2 —8x 34x+4 — 8x+2 —8x 34(x+l)
_ e (81)*
8
=>8" x8" =(81)"
=>g**t =g1**
asy wlul S eSS Sslamol §u& PE PR BWRINIY 5290 949 o L?,S Aoles (Awgyg

X+1=0=>x=-1

if :x=-1=>8"=81°=>1=1
(&ls3 120
3 +31 432 4 390 =360 => 3 + (3" x3)+ (3 x 32) + (3" x 3°) = 360
=> 3 x(1+3+9+27)=360
= 3" x 40 = 360
360

=3 =—
40



=3=9
= 3 =3?
= X =2

Olusby g 20 38

(&le5 121

G2+l | opx | E2x+2 | opxHl | g2x _ plol _ (52x % 5)+ o5X _ (52>< % 52)_'_ g2(x+1) _ g2x _ glot

= 52)( X5+52X _52)( ><52 +52)< X52 _52)( 25101
=>5%(5+1-25+25-1)=5""
= 22)((5) — 5101

= 52X+l — 5101

=>2X+1=101
=>2x=101-1
=> 2x =100
100
= X="—
2
=> X =50
(Plss 122
32X+32X—1 _i_> 32X+!32XX3—1?_1
2x8 +8x2%* 20 2x8 +8x8" 20 X
4 9 3
2x 1 2x = X = ==
37 +-x3 3 30 (8 20
2x8 +8x8" 20 _>(gjx_3ox3
(1+1jx32x 8) 20x4
3 3 X 1
R HE O
§2+8)x8 20 3 3
_ §><9 :i =x=1
10x8* 20
(Slg> 123



39 £ g

_(8x9’ g
T le4x64)  64x8

92 Y (9 Y
=> =
(64><8j (64><8J

=x=1

0.125

(05)° X(LTX =(0.25) = (0.5)"" x(o.125)“ =
"=(0s

x—4 X(O 5)3X—12 (0 )4

X—4+3x-12 ( )

N— N N N

4x-16 (05)
=4x-16=4
= 4x =20
= X=—
4
=>Xx=5

2126 —8=>(2x2")-(2°x27)=8

(wls3 124

(057 f

(ls3 125

:gy,bu.go,w 2XaJ9|55,W~55 2 )?,%59‘95%‘93 «?,JDL-A&

2 (k2 —2x27)=8x 2
2 2
=> 2% 25 = 4% 2"
=> 2% 32 =4x2"
=> A* —32 = 4A
=> A’ —4A-32=0
=> (A+4)A-8)=0
_>{A+4=0=>A=—4=>2X=—4

if :A=2"

A-8=0=>A=8=2"=8= 2%

21427 =6 => (2x2* J+(22x27*)=6

S Sle>

=22=x=3

(s3> 126



Olusby g 20 40

19940 (2 00 2% & gl goomndi 2 2 ssls> 0)lsd Jalao s
:>2—2X><(2><26+4><2‘X):2?X><6
= 2% +2=3x2"
if :A=2"=>A?+2=3xA
= A’ -3A+2=0
= (A-1A-2)=0
:>{A—1=0=> A=1=2"=1=2=2"=x=0
A-2=0=>A=2=2=2'=>x=1
(Sls3 127
3x9x 27 x81x 3% -3 = 2% 3" => 3x 3% x 3 x3* x 3 —329 = 2% 3
=>3x3°x 3% -3 =2x3"
—s 3329 _ 32049 _ 9 319
= (3-1)x 377 =2x3"

=> 2x 3% =23

= 32x+9 :319
=>2x+9=19
=>2x=19-9
=>2x=10
=>X=5
(olg> 128
52)(—6 l=> 52X—6 :50
=>2Xx-6=0
=>2X=06
= X:§
2
=>X=3
(&l3 129

2x—l _ 52x—2 - 2x—1 _ 52(x—1)
= 2*t =251
P o 2 80 Ay (50 A (ol o plT A D 8l 2
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if :x—1=0=>x=1=>2"=25"=1=1

(SO Wlgd Jolwo s X =1

(SIs5 130
1-x . 1 —X _
(02) =125 => (3] ~125 =[5} " =125
10 = 5)(—1 — 53
1-x
=>(1j —125 = x-1=3
5 =Xx=4
(olg> 131
3X 2x—4 5x—4
3Tx3T o 3T o
3X71 x 2X % 3)( 32X71 % 2X
= 35X—4 — 32)(—1 > 2—X > 2X
— 35X—4 — 32X—l % 20
— 35)(—4 — 32X—l
=bx-4=2x-1
=b5x-2x=-1+4
=3x=3
= X=—
3
=x=1
(Slg> 132
25 4571 15 574 (5x5%) 15 57 6x9_ 15
e A N ) 3 5x4” 2
52x + 52)( « 571 15 . 52X 27 15
g 35325353t 2 32X 10 2
2 X
52{“ lj _[E))_15 10
LTS s @) 2
32’((1 1} 2 X
93 _ 295 _ %
2X 6
STx s 15 25\ (25Y
32X N 2 9 9
9 =Xx=1



5% =519 — 5x =100
=x=20

45%+1 _ 9762 _y (22 )5><+1 _ 762

= 210X+2 — 2762

=>10X+2=762

31 41=10=>3"1=10-1

=>3""1=9
= 33X—1 :32
=3 -1=2
=3 =3
=x=1

03 — 3 34 5 31 s (32 )3X _ gLe(x+a)(x-1)
_ 6% _ g2x+
=>6X=2X+4
=>6X—-2x=4

=4x=4
=x=1

=>10X =762 2
=>10x = 760
760

10
= X=76

31131 =30 = (3" x3)+ (3 x3) = 30

= 3X(3+ lj =30
3

— 3% 0 _ g9
3
g 3x30
10

=3"=9

Olaslygey A0 42

(w ls> 133

(w s> 134

(& 19> 135

(wls3 136

(ol 137
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= 3 = 3?
= X=2

1)
(Ej _ 9% _y (2—1)5—X _ 9%

= 2x—5 — 295
=X-5=95
=Xx=95+5
=>x=100

310 % 320 % 330 % 340 % 3)( _ 3X+90 — 2 X39 = 310+20+30+40+x _3><+99 — 2)( 39
_, 300 _gxi99 _ o5 a9
—> (3x3%%7)-3%% = 23’
= (3—1)><399+X =2x3°
= 2x 3 =2x3
= 399+X — 39
=>99+Xx=09
= X =9-99
= x=-90

2120 42" 1 27 =15 = (2 x 27+ 2° + (2" x2)+ (26 x 22) =15

= 2*(%+1+2+4) =15

= 2" X(Ej =15
2

=2"=2
= x=1

439 (x3e3 9 3 9

= —_— >

Ax8 +2%x16 40  4x2¥+2¥x2* 40 2% 8
(B+1x3> 9 9
i4 +24 ix 2% 40

(ol 138

(ol 139

(ls3 140

(wlsd 141



4x 3% 9
> =
20x2¥ 40

3% _20x9
2% 4x40

Olusly g A0 44

-3

=x=1

(ol 142

X 2 \X
. x23x(§j X 9—2 :g
3 64 64

= (3><§
3

8 [ 81 j 9
X —X = —
9 | 64x64 64

=> 3 x 8 ><3"2><23><( 8l =i
3 64 x 64 64

) 81 ' 9x9
=>8 X =
64 x 64 8x 64
_ [ 81x8 (9
64 x 64 8x 64
92 ' (¢
=> =
(8x64j (8x64j
=x=1
(olss 143
3
1 Y72 3
— =7 = (497') 2 = 7%
) (ag)
3
=> (7_2) 2 = 74_X
= 73—2X — 74—X
=>3-2X=4-X
=>3-4=2X-X
=-1=X
= x=-1
(&lg> 144

5x+3 — 25)( 25x+5 = ix5x+3 — 25x+5
25

= 5—2 % 5x+3 — 25x+5
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= 51— 25(x+l)

5x+l 32x+l
=>X+1=0
=X=-1

79497 Z6x7* x49° = (17 x7)-(72 ) =6x7* x 497
= 77 X777 =6x7* (7]
= 7% x(7-1)=6x7*x7*
=7 x6=6x7°
= 7% =7°
=>2x* =8
=X’ =4
=X==x2

X 3 4—x
(lj (100()) 00625 = (21 [ 12| - 8B
2 125 5 10000
X 4
=27 x 10 =5—
5 10*
12-3x 4
o
5

_>2 % )12 3x :(%)
4

= 2—x+12—3x — (
= 2—4X+12 — 2 4
=12 —4x=—4
=>4x=16
=X=4

2><+2 ~16+ 27—x - (2>< v 22): 16+ (27 X 2—><)

(Slg5 145

(wls3 146

(s> 147

e 2 . .
:99,0.:.“&}9% 2 )i9|954),oo)w 2X d.'é‘g‘pbg‘gb
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=>§—:><(2Xx22)=§—ix(l6+27XZ"X)
= 2% =4x2*+2°
=> 2% _4Ax2¥-32=0
if A=2"=>A?—4A-32=0
o (A8)(A+4)=0> A+4=0=>A=—4Ax;2*>2xz-4
A-8=0=>A=8—12 0¥ =8=>2"=2=>x=3
(S5 Pls> ol 5 & g9 slo 82" =—4)
(s> 148
92X _ g50 _ 92X _ (22)50
= 22x :2100
=> 2x =100
=>XxX=50
(s> 149
571 +7=632 =>5""=632-7
=5"1=625
=5 =5
=5"-1=4
=>5*=5'
=x=1
((«ls5 150
TR _T7=42 =7 =42+7
= 7 =49
=7 =77
=>X+1=2
=x=1
(&ls3 151
Ax 2 +2x22 425 =22 => 4x 2 +2x (2 x 277 )+ 2* =22

=> 2Xx[4+2x%+1j:22



A7 £ Y

= 2" X(E) =22
2

22x2
11
=2"=4
=2 =2?
=X=2

=2 =

2—-X
DT
= 2)(—2 — 2150
=>X-2=150
=>Xx=150+2
=> X =152

3x 3x+2 —Ox 25x+5 - g % 3x+2 _ 25(x+l)

- 1 ><3><+2 _ 25(x+1)

— 3—1 % 3x+2 _ 25(x+1)
= 31— 32(x+1)
=>X+1=0
=>x=-1

52002 » 22 20,0025 => (5% x5 Jx 2% = 2>
10000
25
— 5 2X 2 2X —
>(6)"x(2) 25%10000
1
—>(5x2)* =
(5x2) (100)°
=>10%* =100
= (102 =100
=>100* =100

= X=-2

(wlss 152

(o3 153

(ls3 154
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1 Xx-15
(—j X7 =T = (12 x 7 =7

— 7—2X+3 % 7X — 74

= 7—X+3 — 74
= -X+3=4
=-x=1
= Xx=-1
27 481X 4 FV43 g 1,
T o7 x5y = - +3 =
3 27 3 27 27
33 4 3 4 . 4
- 3x T 7 =3 =
3 27
33X—3 34X 4 . 3
= 3X X o7 => 3 P
3 3 27 27
3X -3
:>3 >;3 +34XX3_3X— :>3x=1
3 9
= 3 =37
= X=-2
53X+2 _53X+l B 250 - (53X % 52 )_ (53X % 51) B 250
943> 9 (9*x9")+9" 9
~ 5%(25-5) 250
9*(9+1) 9
. 20x5* _@
10x9* 9
| 2x5% _ 250
9~ 9
. 5_3X_ 250
9*  2x9
5% 125
=> = —

9¢ 9

Olusly g A0 48

(wls3 155

(Vlss 156

(wls3 157
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__5*) 125
T 9
__(125y 125
T 9
(125" (125Y
=) -(¥)
=x=1

(ijl X ><(10><8)7X
1 X+2 2 -2
o) o)

_ (2_2 )H x107* x87*
0 x(57)"
220"

1072 x5°

2—2 X ><10 X
10—X—2

(0.25)* x80™
(0.1)**x(0.2)2

=1

=25

-14
0.2y =125 = (Ej =
10

(©le3 158
—-2-X
=> 2 —=25
10
=> 272 = 25x% i
100
= 2—2+x — l
4
= 2—2+X — 2—2
= -2+X=-2
=>Xx=0
(&l 159
= 514—X — 56X
=14 - X =6X
= 06X+x=14
=x=14
=X=2
(SIs> 160



2 )

272X+16 =

- 2(3+x)—(2x+16) - 22

= 2—13+3X — 22
=>-13+3x=2

= 3x=2+13
=>3x=15

=Xx=5

52 _5* = 600 => (5" x 5? )~ 5° = 600

12514625 6

53X

= 5*(5? —1) = 600
=> 5" x 24 = 600
600

24
=5'=25

= 5" =5
=X=2

=> 5X =

&) +6) o

S
53X—3 +54X 6
ST 5
_ 53X!573 +5* !_ 6
- 53X - 53

6

=573 45 =5

=55 +5")=6
=545 =6
=>1+5"°=6

= 5x+3 — 51

= Xx+3=1
=>X=-2

Olusby gy 20 50

(&ls5 161

(ls2 162
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(Vs 163
188 80 (6 (Solus 0 (ls3 2 oﬁolgegjlsg 7
X=3=0=>x=3
{2x+y—1=0=> 2(3)+y-1=0=>5+y=0=y=-5
(&lss> 164

(0.008) % = 25%* = (sz _ )"

= 5—3x+6 — 56+2x
=>—-3X+6=6+2xX
=>-3X—-2X=6-6
= -5x=0
=x=0
(g3 165
6" +6% =252 =>6"x6"+6" =252

=> (6X xéj+6x =252

=> 6*[%+lj =252

=> 6X(Zj =252
6

:>6X><6_l=E

=61 =36
= 6" =6
=X-1=2
=X=3

&G -6 =65 -6

(wls3 166



(0.25)"° =16

27 x 652

[

1

3

—x
] x6*

Il
\
TN
~lw
N7
X
N
X
1
TN
Alw
-
[
ot

N §)x2 X(§)2X2 _ (_
4 4

N §j(><2)+(2x2) _ [§jz
4 4

N §j3x4 _ (§j2
4 4

=3x-4=2

=3X=06

=X=2

(3] er

N [%jSXS _ 24)(74

S (2—2 )3*3 _ dx-4
5 D6x6 _ odx-4
=>—6Xx+6=4x-4
=>—-6X—4x=-4-6
=>-10x=-10
=Xx=1

2 X—2

3B %(3
> X
(3_1)1 X (2 X 3)X
33X % 32X74

=> 3—l+x % 2% % 3¥
= 33)( x 32x—4 — 3x—1 % 2x ~ 3x % 2—x

=27X

_ X

Sluoly e LA 52

(g3 167

(Llss 168

= 33x+2x—4 — 32x—1 % 2x—x

= 35X—4 — 32X—l

=>5Xx-4=2x-1
=>5X-2x=-1+4
=>3x=3

=>x=1
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x-1
B
S "
57%x| =

X(Z)

. (2><5"l _1><(23)1_X _10

5 x (21

2X—l % 51—X % 23—3X

= 57X % 273X = 10
—2X+2 1-x
== 25)(—>;S3x = 2 X 5
X

= 272X+2 x 51—x — 57X x 273X x 2 x 5
= 2—2x+2 % 51—x+1 %
= 2—2x+2 —

= -2X+2=-3x+1
= -2X+3x=1-2

2—3x+1

2—3x+1

=Xx=-1
52X 6
251571 15 () 45>t 15 X5 15
gt 43 ?_>(24—2x—1:? )
2743 gy 4
9
- 5" 6x9_15
P21 2 ¥ 5x4 2
__ 5+(E"x5") 15 _ 5" _15x5x4
(37 x37?)+(3*x3*) 2 3% 6x9x2
_ 5x(+5Y) 15 _B)_
TP (37431) 2 (32)* 9
x(l+1) = 25X—§
5)_15 9 9
(1 1) 2 (25)* (25)1
+= =|=| =|=
3 9 9

=x=1

(ls3 169

(@ls3 170
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(lsz 171
8 +8 +8x_41-8 :32:>8 X(1+1+}j1):32 3x+2
(0.0625) ( 625 j = e = 32
10000 — 2(3x+2)—(4x+4) — 25
3 X
= 2 jj =32 =207 =2
( 1 ) > 7x-2=5
16 >TX =17
3X 2 - B
L 2TX2 g = x=1
ey
(Pl 172
3 +3x+2 +3x+4 =819 => 3* +(3X +32)+(3X X34)= 819
=3 x(1+ 3? +34)=819
=>3(1+9+81)=819
3819
91
=3"=9
=3 =3
=X=2
(Plsz 173

52 _51 =620 => (5" x5?) (5" x5 )= 620
=5 x (52 ~57)=620
=5 x[25—%j — 620

:>5Xx%:620

 620x5
124
=5"=25
=>5* =57
=>X=2

=> 5%
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74 _ QXHY3 sy 724 (72)X+y73

=> 72x—4 — 72X+2y-6

:>2X—4:2X+2y_6

=>2y-6=-4
=>2y=-4+6
=2y=2
:>y:1

22n+3 — 32 % 2n—1 = 22n+3 — 25 % 2n—1
= 22n+3 — 2n+4
=>2n+3=n+4
=>2n-n=4-3
=n=1

2n+1 — 2n72 +28=> 2n+1 _ 2”72 — 28

(wlsz 174

y-1
-0z > ) Z)
1
4

=>3x -3y =-2y +2
=>3x-3y+2y=2
:>3X—y:2 : y:1

=>3x-(1)=2

=3=2+1
(Pls> 175
(Pls> 176

= (2” X 2)_ (2n y 2_2)= o8

=> 2”><(2—£)=28
4

=>2”><Z=28
4

=>2" =28><ﬂ
7

=>2"=16
=> 2” :24
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(Plss 177
(68 2" o gisham (S53 Gaum SIg ) pais N s taigoly
269 = 2 4112 => (26 x 2°) = 2 4112
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